Nickname:

1)7x6= a.) 34 b.) 42 c.) 89
2)0x9:= a)0 b.) 1 c.)9
3)1%7s» a)l b.) O e.) 73
4)42 x 2 = a.) 84 b.) 44 c.) 89
5.) 20 x 60 = a.) 80 b.) 1,200 24120
6.)30x8= a.) 498 b.) 38 c.) 240
7T) 27 %3 = a.) 24 b.) 9 c)7
8)35+7-= a)b b.)7 c.) 28
9)96+3= a) 32 b.) 30 £.)93
10)565+1= a)l b.)O ¢.)H8
11.)497 0= a)o b.)1 c.) 497
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Nickname:

1y 45
X 7

Multiplication: "x"

2y b0 8
4

X

P.3/

3.) Match the following times problems to their answer.

503 x 10

600 x 10

75 x 10

400 x 10

70 x 20

4,000

5,030

1,400

6,000

750
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Division "+"
Change the X to + with the following problems:

If 6 x 4 = 24, then + =

If 8 x 7 = 56, then + =

If 2 x 14 = 28, then + &

If 9x7 =63, then +

Long Division:

% %
2 5 85

1y

I
G OO
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